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NO. 1

MARK COUNT COMPOSITION REMARKS
o 4 % F F MR B E =
NZY L—=ay 70%
A—1 70RL 1118 Ry 30%
NED L—3 70%
A—3 70RL 1918 Ry 30%
NED L—3 70%
A—4 70RL 25,18 U 30% SEEAPE
NED L—3 70%
A—5 70RL 3018 xRy 30%
NTY L—=ay 70%
A—6 70RL 3318 U Ry 30% SOZIAE
NZY L—=a 70%
A—T7 70RL 4518 =N 30%
NED L—3 70%
A—38 70RL 20/1C = 30%
N L—ay 70%
A—38 70RF 30/1C JxrI3I— 30%
N L—ay 8 5%
A—10 85RL 20/1¢C Uy 15%
N L—gy 85%
A—11 8S5RL 30/1C =N 15%
NED L—3 8 5%
A—39 85RL-TOP | 30,/1C |4 = }F3=W| Uxy 15%
NED L—3 8 5%
A—40 85RL-TOP | 30.1C L7L— | Jxy 15%
NED L—3 8 5%
A—41 85RL-TOP | 30.1C MZL— | Jxy 15%
N 1118 257 =N 70%
A—19 70RL SL Ry 30%
N 25,18 257 =N 70%
A—20 70RL SL Ry 30%
N 33,18 257 =N 70%
A—21 70RL SL xRy 30%
NED 45,18 257 L—3 70%
A—33 70RL SL xRy 30%
NED L—3a (E4—) 85%
A—42 8 5ML 40/1C = 15%
NED L—3a (E4—) 85%
A—43 | 8MLTOP | 40/1C L7L— | Uxy» 15%
N L—ar(E4—) 85%
A—44 85MI-TOP | 401C MZL— | Uxy 15%
N L—ar(E4—)) 85%
A—45 85MI-TOP | 401C DZL— | Ux» 15% KSR PE

FEFFR S=HETF C=EF SL=RT77 )




(B) Al b—ar,/73I—) v J—X

HfLE L—3v 70%
B—19 70RYR | 20/1C —— 30%
HfL%E =N 70%
B—26 70RYR | 30/1C 53— 30%
Hfl4E L—ay 85%
B—5 85RYR | 30/1C 53— 15%
HfL%E 25,18 257 L—ar 70%
B—9 70RYR SL Z3I— 30%
HfLAE 24,/1C 25 L—3 80%
B—27 SORYR SL 73— 2 0% T

(C) 2iFd RV=2TL /Y %y) Y —X

ye=fERY =27V ]

OIS RIVZATNVTIA4 S 7T0%
cC—2 70EBF |10/1C Ry 30%
DD RYVZZATFLTIAL N T0%
Cc—3 70EBF | 16/1C N 30% SV PE
DD RYVZZATFNLTIL R~ T0%
C—4 70EBF | 20/1C N 30% SEVFAEPE
DD RYVZZATFNLTIAL N T0%
C—6 70TBF | 30/1C 3T 3I— 30%
L)) % RIVZZATNVTI4F 85%
C—15 85TBF | 20/1C U 15%
L)) RIVZZATNVTI4F 85%
C—5 8S85EBF | 30/1C Vs 15%
2E RVTZATNVTIAL N 50%
C—14 50TBF | 30/1C VAR TI— 50%
o) 16,/1C 25 RIVZATVTI3AL4 N 75%
C—19 75EBF SL VAT I— 2 5% SV E
(D) A RYV=2T71L,/F7I—) V=X
H & RVZATNTIA4 S 7T0%
D—1 70EBR | 16/1C 73— 30%
H 5 RVZATNTTITA4 L 7T0%
D—2 70EBR | 20/1C FI— 30% LA E
H 5 RVZATNVTF74 ] 65%
D—6 65TBR | 30/1C FI— 35%
H 5 RVZATNLTF74F 65%
D—12 65EBR | 40/1C F3I— 35%
H & RVZAT VT4 85%
D—4 85EBR | 30/1C — 15%
B RVTZZATNVTIAL N 85%
D—15 85EBR | 40/1C — 15%
(S) ~v 7)) —xX
AN TR T (~>7) 55%
S—3 55HC | 16/1C f 4 5% MEVEAPE
AN TR Tt (~>7) 55%
S—4 55HC | 20/1C i 4 5%
AT T (~7) 35%
S—7 35HC | 30/1C b 6 5%
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NO. 3

HED L—3ay 8 0%
F—4 SORW | 20/1C 77— 2 0%
HEY L—=y 8 0%
F—5 SORW | 30,/1C 77— 2 0%
HEY L—=y 8 0%
F—8 SORW | 40/1C 77—l 20%
(L) b —x
16,/1C 25 ‘
L—1 RB100 SL L—3ar 774 bk 100%
(V) aybrrfaryxy vJ)—X
M o 70%  Uxr 20%
vV—1 70CNL 20/1C FA4rr 10% ST E
o 70%  Uxy 20%
V—2 70CNL 30/1C FALur 10% SR PE
<INNRY =y Y —=X>
(G) ABE. (ARY— vy L—ay) L —X
=] VT (R=—)  10%
G—1 10SR | 20/1C L—gr 9 0%
=] VT (R=—)  10%
G—2 10SR | 30/1C =4 9 0%
=] v (=—) 10%
10SR | 302C L—g 9 0% XELEAEPE
=] v (=—) 10%
G—3 10SR |40/1C =4 9 0%
HE v (=—) 10%
10SR | 40/2C L—g 90% KA E
=] 1,/20 EEP |7 (=) 10%
G—14 10SR SL AFT L—3 90%
(P) v ivay b (wRY— )L/ A—E"=) a—< ) —X
b3y b 40,/1C VT (R=—)  20%
P—14 | 20PSCM (=) e 8 0% SEZIEARPE
by k 60,/1C v (R=—) 20%
P—13 | 20PSCM (=) A—t~ 8 0%
D2I2=0TAN 100/1C LT (R=—)  20%
P—16 | 20PSCM (@=9) A —E= 8 0% KA E
(P) vivavyh @/ nz /A0 v J—RX
DAZ=DAN N . VT A 4 0%
P—19 | 60CcsSN | 20/1¢Cc | 77 @ 6 0% ST E
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(H) AHhA 77— FH0 v U—X

NO. 4

i 70%
H—35 70CL 8,/1C U 30%
i 70%
H—36 70CL 10/1C U Ry 30%
i 70%
H—37 70CL 16/1C = 30%
i 70%
H—38 70CL 20/1C = 30%
i 70%
H—41 70CF 20/1C VxrI73I—  30%
i 70%
H—33 70CL 30/1C N 30%
i 70%
H—9 70CF 30/1C Jxr73I—  30%
i 70%
H—10 70CR 30/1C 53— 30%
i 70%
H—48 70CR 40/1C 53— 30%
i 70%
H—22 70CF 40/1C UxrT3I— 30%
i 50%
H—11 50CF 10/1C URTI— 50% SEHAE
i 50%
H—12 50CF 16/1C 3T 3I— 50%
i 50%
H—44 50CL 20/1C = 50% KA RE
i 50%
H—13 50CF 20/1C R I— 50%
i) 50%
H—18 50CF 30/1C VR I— 50%
i) 4 0%
H—24 40CL 10/1C = 6 0%
i 4 0%
H—30 40CL 16/1C = 6 0%
i 4 0%
H—42 40CL 20/1C = 6 0%
(H) AhATF7—0 A—t~ a—<J—X
40/1C 22—t 7 0%
H—46 70CL (3—=) Uxry 30%
50,/1C A—E 70%
H—43 70CL (3—=) Uxry 30%
60,/1C A—E~ 8 0%
H—32 80CL (2=) Uxy 20%
80,/1C A—E= 80%
H—47 80CL (2—7) ARUALRIERY 20%
30/1C A—E= 50%
H—45 50CL (2—7) S 50%
60/1C A—E= 75%
H—49 75CR (2—) Z3— 25%
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(K) KBV Y —X
KE 35/1C
K—0 AT T SL AZT | 100%
KB 5,/1C
K—1 AT SL AT | 100%
KB 10/1C
K—2 AT SL AZ7 | 100%
KB 16,/1C
K—3 AT SL AT it 100%
*E 21/1C
K—4 AT 7 SL AT | 100%
*E 30/1C
K—9 AT T SL AT | 100%
(1) Wik Y —X
I—2 F3I—%—>r | 40,/1S L 73—100%
I—3 FI—%—r | 60/1S L 73—100%
I—4 F3I—%—> | 80,/1S L 73—100%
1,/8. 5
[—28 | UrrP— (14/19) W. S U*2100%
1,15
I—22 | URyY—r (25/1S) W. S U+£2100%
1,/1 50
I—29 | YR Y—r (25/18) W. S U%>100%
1,18
I—25 | YR Y—r (30/18) W. S U+£2100%
1,/24
[—23 | UrrP—r (40/1S) W. S U+£2100%
1,/2 41
[—26 | YRy —r (40/18) W. S U%2100%
1,/36
I1—9 U xY—r (60/19) W. S U+£2100%
1,/ 3 6
[—27 | YR —r (60/19) W. S U%2100%
1,/48
I—21 | UrrP—r (80/19) W-S U%>100%
1,/4 8l
I—-30 | UrrP—r (80/1S) W-S U+£2100%
1,/60
[—24 | UrP—r (100/18) W- S U+£2100%
1,75
I—-31 | URrr¥P—r (125/18) W-S U+£2100% SETAEPE
(U)
U— s NJ100 60/1C L—3y (H W. M.) 100%
Jay b 30/1C L—3r H. W. M.) 55%
U—11 55]CM (2—9) i 45% | XZEAPE
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